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Couesticon Label ;- Multiple Choice Question

Plato belonged to which countrv ?
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Options:
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Question Number : 2 Question Id : 6589882985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Which one of the following does nof comprise the period ot Darsanas in India ?
fFrefafiag % B 99T | 594 @ o &6 T8 8 7
Options:
Nyava

Bauddha

5 ArE

Vaizesika
= qerfis

Sankhya
4 =

Question Number : 3 Question Id : 6589882986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
Which Upanisada contains the meaning of Shiksha' and the 'Convocation
message for Anfewasi ?
[Bera e I A T i o o = 1 B e O o 8
Options:
Taittariva Upanisada
y DR EIE I L

Kenopanisada
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Mundakopanisada
5 HEdTTE

Kathopanizada
FEMETE
4.

Question Number : 4 Question Id : 6589882987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

CQuestion Label : Multiple Choice Guestion

Which one iz lower knowledge according to Upanisada ?
FUHTE T SN B A S B Y

Options:
Karmakanda
| TS

Vidy:
fereram

Apara

HURT

Question Number : 5 Question Id : 6589882988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the following comprises the period of Darsanas in India ?
i s e e 1 A o s B e = B A
Options:
Yoga
L

T aina
S

Bauddha
= arg
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Vedic

EIEET
4.

Question Number : 6 Question Id : 6589882989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following combinations comprise the period of Darsanas
i India ?
B R W T £ W e 1 B i e M ) e B L1
Options:
Bauddha Yoga, Vedanta, Charvak
al@, TN, qar, Sard

Yoga, Mimamsa, Charvak, Vedanta

ITT, HETET, ATEE, IR

Nvava, Yoga, Vaisesika, Sankhva
=T, T, S, e

Jaina, Mimamsa, Charvak, Vedanta
S, ATEMET, A=TETE, T

Question Number : 7 Question Id : 6589882990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following constitutes the basic elements of Indian
Philosophical Tradition ?
Frefafiag § 9 ®F ar SEiEE e & S e 8 7
Options:
Darsanas, Buddhism, Jainism, Sufis
; s, dhg, o, S

Buddhizm, Jainism, Sufis, Islam
arg, o, YW, ST

Vedas, Darsanas, Buddhizm, Jainism
o, w9, 9|, o

Buddhism, Jainism, Islam Christianity

4 A1F, OIF, Y, SHETA _
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Question Number : 8 Question Id : 6589882991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Satisfaction of which one of the following is the focus of Indian
Philosophical Tradition ?
R 1] e B B e e = e s U e R e e e e e e (A
Options:

Intellectual Doubt (samasava)

i Al ITe (AT

Practical Utilitv (pravojana)
o TTIRTNE FUarfdr (@)

Both Intellectual Doubt and Practical Utility
. A I Ud Saee S S

Nomne of the three

’ 1 G s s el o

Question Number : 9 Question Id : 6589882992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

Which concept according to Indian Philosophers constitutes the ‘right wayv of
living' or 'the good life' ?

S E i B e o b Rl b | e B B D B T B B 1 B R R e T
G 1 e 3

Options:
Dharma
1.

Moksha

By
5.

Purusharth

3 T

Darsana

Gl
4.

Question Number : 10 Question Id : 6589882993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay d
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ouestion Label : Multiple Choice Question

Which master concept in Indian Philosophy is based on the realization that
desites constitute the source of human action and thev function in
mterdependence ?

WA ST BT BE-AT G GHERE $H 4 U ST & W gEen As a0 fharei

W AT B SN ° oiaE & ed &y dedT B 7

Options:
Moksha
i Hie

Purushartha
> "J"x‘T'i"ITm

Dharima

=

Artha

Question Number : 11 Question Id : 6589882994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Who had said, Truth is God' ?
(=] her B, Weg B geay B 7
Options:
K. N. Tagore
1 3o To GRIE

M. M. Malaviva
UHo TTHe AT d

WK Gandhi

Sri Aurobindo

R

Question Number : 12 Question Id : 6589882995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label @ Multiple Choice Question

Which of the tollowing opted teaching as his first career in life ?

5 R o e B s e = o B P e 2 W s et S M = 1 e = £ W 1 o Qcollegedunia;
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Pandit Madan Mohan
1 HiET HeE e

Mohandas K. Gandhi
5 AT o TIEN

J.L. Nehru
2 Wo UEo TEE

Sardar Patel
4 VRET T

Question Number : 13 Question Id : 6589882996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the following methods have been adopted for teaching students in
upanishadas ?
EEE Lt M B 813 e e £ e T L G M e B £ O 1 B 3 <
Options:
Teacher centred
| s wiE

Dialogue
5 WA

Student centred
o (el @f=a

Activity centred
4. T i

Question Number : 14 Question Id : 6589882997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which one of the following is Varnashrama dharma ?
fFrefafaa § 9 FE e a8 7

Options:

Kama, Dharma

HH, TH

Artha, Moksha

5 A, HIE i
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Vaishva, Kshatriva

z 99 &=

Kama, Shudra

4 ¥, IR

Question Number : 15 Question Id : 6589882998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which one of the follovwing is Asrama dharina ?
fFr=rferfiaa # o w1 anam B ¢

Options:

Grihastha, Brahmacharyva

e, FEIEY

Brahman, Kshatriya
HTEIYT, &=

Kama, Shudra

Samvasa, Bralunan
W AR

Question Number : 16 Question Id : 6589882999 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Question

The ancient university of Taxsila is presentlv in which country ?
21 e e s e s R e e e B 0 1 M B 2 =

Options:
India
i HIEC

Pakistan
o e

Afghanistan
5 AT

Sri Lanka
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Question Number : 17 Question Id : 6589883000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which is the unique doctrine in Indian Philosophical Traditions, governed by
the law of cause and eftect in moral life of human beings ?

PiF-T AR wEEE avegwen @ faftre e B oud A @ Afad e d
G e e e = 21 e O 2 = M | A

Options:

Dharma

a4

Farma

gl

Moksha
\|ET

Fama
TH

Question Number : 18 Question Id : 6589883001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
What was the term given to a student in Gurukuls of Vedic system ?
afeg® wrel W ToEal | Ud faere B @ ves WA e @ e 7
Options:

Sanmer

Antewvasi

ATEATHT

Shishya
o far=

Gurukuhvasi

Question Number : 19 Question Id : 6589883002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay I 03y ::
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ouestion Label : Multiple Choice Question

Which one of the following is nof an Indian Cultural Tradition ?
L | L e s e 1 B R U2 B = 1 T T R M - =

Options:
Tolerance

: AfETE

Unity of all life and being
i I e s ML B e s R i

Cazte
G 1 O

Universality
BIER IR

Question Number : 20 Question Id : 6589883003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

What iz the termu used for the established traditions connected with the
values or preferential modes of thinking, believing and behaving of people in a
given society or comumunity ?

PR | B o W 14 O s PO 1l e R e B
THIHI I T FET A E 7

Options:
Social Traditions

1 AT TR

Cultural Traditions

Philosophical Traditions
o SRIHE TR

Moral Traditions
J Afers aeE

Question Number : 21 Question Id : 6589883004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Zuestion Label : Multiple Choice Question Q collegedunia:



Which is nof the essential characteristic of Indian Culture ?
e R T e i i e T e e R =
Options:

Universality
] BIEE NGB
Cultural Daversits
EIESAGEREIEEhI

Cultural Disintegration

IR EREEERIE

Cultural Unity
I s e

Question Number : 22 Question Id : 6589883005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Arcording to whom, social systems change due to change in means of
production and relation of production.

i R O 5 O 5 e Ot 11 e e ) M e S R = M 1 o R T =
1 [ B s ol v

Options:
Karl Marx
. ThTel IR

Max Weber
H T

Adan Smith
TEH Ay

Emile Durkheinn
IR "i_‘q

Question Number : 23 Question Id : 6589883006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the tollowing statements is not frite about RTE Act, 2000 ?
e @ afese w2009 F T § B0 B F6 20 _
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No screening procedure for the admission in elementary schools
I e H OWE B e WO uden g

A child has right to have transter from one school to another
fagzafl & uF I} TN Te H WA @ S

Teacher pupil ratio for class I-Vis 1: 30

e IV A faganefi-forere argmer 1: 30 &mm

Parents will be punished for not sending their children to school
e B & T B B i M |08 1 | e

Question Number : 24 Question Id : 6589883007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

When material culture changes tast in comparison to non-material culture and
creates an imbalance in social structure, it is called :

2 o 0 s w1y i ) A | O e A s <l s 1 e Rl
H arfgel Sod= dvdl &, a1 8 @Ed 8

Options:
Cultural field
) i &

Cultural distance
5 HIER T

Cultural lag

. (i =
R NS o Do I O = O R |
5.5 g

Cultural shock
i HTER feTes SrHTd

Question Number : 25 Question Id : 6589883008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Division of society into higher and lotwver social units is called :

0 e 2 e O o 1 e = | W O e o s e O 7
Options:

gcollegeduma;
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Social stratitication

HTHTEAS S e

Sorial organization

5 IS T

Social institution

o TGS e

Social svstem

51 1 e = o'

Question Number : 26 Question Id : 6589883009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which of the tollowing is an example of open stratification ?

1 A ¥ T ol W 6T Ud SEiE 8
Options:
Caste based stratification

1 ST AR S

Gender based stratification

e ATETRT e

Class based stratification

B 6511 W e 5

Race based stratification

T AT S o]

Question Number : 27 Question Id : 6589883010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following ferminist thinkers has critiqued Rousseau's scheme for

girl s education ?

W e O s B O A 2| e ol B v B e B s e A i e e I
HE T

Options: )
% collegedunia:



Mary Wollstonecratt
W A AT

Simone De Beauvoir

e & aar

. |

Eate Millet

Naomi Waolf
AT

Question Number : 28 Question Id : 6589883011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

There can be no equality without equity this statement refers to that
3 e A o o e = e 110 e e o o T
Options:
Equality is an essential condition to achieve equitv
| T QT 1A Y A S I e E
Equity is an essential condition to achieve equality

, T AT T U e EEIE O I B

There is no possibility of equality and equity
o A SR T o = e 2 e ] = e F

Equality 15 an utopian idea

i R | MRS e ] [ £ 0 s

Question Number : 29 Question Id : 6589883012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In India Right to Education has now been accepted as a fundamental right; it is

an extension of an already existing fundamental right of

ue | oa frEm Uw qol RN B 9F Ul W OB Ry My e Ao stfEer @
Frea & 7 gcollegedunia;
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Right to freedom of speech and expression
1 B L A ] e e v e s D 2 = )

Right to form associations

YT S¥ o G5 & S

Right to practice one's own faith

5 ETTHE SITTE] @1 a7

Right to life
4 S T AR

Question Number : 30 Question Id : 6589883013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

In the Indian context which of the following factors was an orthogenetic factor
of social change ?
B a1 e e O o T O W 1 1 e e e ) M o e e s M R A
TN B L
Options:

Impact of Islam

| ST W AU

English Education

5 AT fEEm

15th centurv socio-religious reform movement

o LO9T Srarest w1 WS- A e

Impact of Missionaries

L ElG il et |

Question Number : 31 Question Id : 6589883014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the statements is nof frie regarding Traditional society ?
CRERTIE W HReH W b= e AT B Y

Options:
Qcollegedunia;



Hereditary status is valued

| T SifEET @ AR

Religion and state are separate

a9 AT YT e BN B

Church is supreme authority

i B I (= B b

Meaning lies with the authority

i ‘el |7 @ W B B

Question Number : 32 Question Id : 6589883015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Why universal elementary education (for all Indian children) bill was opposed
m Imperial assembly in 1911 by some of the Indians themselves ?
RS 1) et O a1 = 2 o 1 M= ) O e T A M= e I B o
1 e W= 1911/ ®w awdrE A o e v
Options:

The bill was faulty

o= et e o

It was prepared by British
Sl e s W e W

Vested interest of landed class
q-fer @ @ AR v

India did not need elementarv education
B B ) R i e B i B E e

Question Number : 33 Question Id : 6589883016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Who had presented universal elementary education bill in Imperial assemblv in

9112

FSRE T Nt R i e 1 41 M = M 2 O

Options: gcollegedunia;



5. C. Banerjee
o Hio g

G K Gokhale
Hio o TTEe

Lokmanva Tilak

ATFEAT foeF

Lala Lajpat Rai
ST BIRAHET ST

Question Number : 34 Question Id : 6589883017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

Which of the tollowing is not included in UN Millermium Development Goal ?
(5 R s M B 2 s Ml i) 2 s e B M £ =0

Options:
Eliminate gender disparity in primary and secondary education by 2005
;2005 T WAt S et [ 6 Siey S o W dve

Eliminate gender disparity from all levels of education by 2015
2015 ads f3rem & wdl R W ST AT B WA e

Achieve universal primary education by 2015
2015 & T ariEe e e are e

To provide univerzal vocational education by 2015

” 2015 T HTEEIFE SaEinE BET SueTEr e

Question Number : 35 Question Id : 6589883018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Opponent of technological progress (because thev think that it would causze
unemyplovment) are called,
Options:
Luddite
qEEE

1:
gcollegedunia;



Technophobic
TR

Retroactive

R

Revivalist

AT |

Question Number : 36 Question Id : 6589883019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which of the tollowing statements about Indian education system is frue ?
1w e (o et s MO e e e e 9 B [

Options:
Private schools don't have constitutional validity
1 T e S ) [ e e M E

Private schools have constitutional validity
[ s | e 2 |

Private schools are illegal

Aot e T W E

None of the three
[ 1 s A 1 s

Question Number : 37 Question Id : 6589883020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In languages use of masculine noun as generic noun is an example of :
B0 % MR e o e 2 B ) e 2 ) e R M M 2 RS TR L B

Options:
Neglicenre
1 ST

Non availability of words
o FeEl Bl AT

Qcollegedunla;
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Androrentric language

T e |l

None of the three
P

Question Number : 38 Question Id : 6589883021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the tollowing is not the characteristic of a modern society ?
R e s e i A 1 e e M R e e L | M =7 S
Options:
Separation of religion and state
;T SN W @ S e
Hereditarv rights
o T AFETER

Secularization

12 e ek pe

Emphasis on rational individual selt

4 (311 £ e = e £ s e T

Question Number : 39 Question Id : 6589883022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Which of the following statements regarding the institution of Indian marriage
is true ?
AT fAarE e @ e HOwE- e Wed B 7
Options:
Monogamy tor men was prescribed in traditional Hindu law

;TR S i i e O M O e e e R

Polygamy for women was prescribed in traditional Hindu law
, TERT fevg @ 7 M=ol g @g foare o =raver =
Prior to Hindu Code Bill 1955, Indian men were allowed to be polvgamous

4 feeg @re fae 1955 9 gael wdm quu 2q ag-faars @ et = gcqllegedunia;



Prior to Hindu Code Bill 1955, Indian men were not allowed to be
polvgamous

" famg ®1e faor 1955 9 Ugel We Y97 oq Je-fAars @ gt =8 o

Question Number : 40 Question Id : 6589883023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which one is the suitable example of primary group ?
TTH W B MHHE TR 1 SUga SeEe #

Options:
School

Club
o, FRIA

Family

12 G IR

Office
i -..";r q

Question Number : 41 Question Id : 6589883024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the tollowing statement is nof frie regarding post modern concept of
knowledge ?
1 £ M s e e e e W M et el el = T | s - o
Options:
Knowledge iz universal
| S TS #

Knowledge is contextual
21 B I R o ol

Knowledge iz socially constructed
o A Al M 2

Enowledge is multiple

4 T fafaEr g
' Qcollegedunla;
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Draring Vedic Period what was not the aim of education ?
e | e 1 s e R ) = s s e B /= S
Options:

Development of Religiousity

Sl 7 (e

Development of Compassion
F I
o TGO T fAhT

Caste Training
o I e

Development of Sorial Efticiency

4 WTHTTSTER Sepredl #T fadr

Question Number : 43 Question Id : 6589883026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Draring Vedic Period academic session comunenced in
qfg® wrer | FEr o e 2 A

Options:

Kartik Purnima

ERINE

Shravan Purndma
AT TfOTH]

Phalgun Purnima
T e

Ashwin Purnima

g afga qfora
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The meaning of Pabajjn ceremony is -
TF AT SYERIT ] A B Qcollegedunia;

Options:



Admission to Gurukuls
e H I

Thread Ceremony

Ceremony to perform vajna
81 M 1 1) et B e W 18 L8 e 2 G o M N T G O

Admission to Buddhist monastry
Alg A8 H wae
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

"Education according to interest rather than the caste, creed, race or gender’
was propogated by which svstem of education -

S A o) § O 1| i v | B e e 1 e i - | O T O e e =4 O M-
afefad &5 g ¢

Options:

Vedic education

afgw fFEn

Izlandc ediication
FEATHE fI7Em

Tainistic education

ERBENE

Buddhistic education

i g fen
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

What was the national language during Muslim period ?
3| e e e e e 1 S

Options:

Qcollegedunla;
India’s largest Student Review Platform



Sanskrit

| T

Persian

g

Arahic
T

English

i SRS
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Maulana Mohammmad Ali established Jamia Milia Islamia University in
Hier HEwE el A S e gyt fEeataeners @ v 9 o
Options:

Agra

ATNT H

Lucknow

[SECE TG

Aligarh
ATEE |

Dielhi
fawet |
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Correct Marks: 3 WrongMarks: 1
Cuestion Lateal Multiple Choice Guestion
Concept of Pace Setting Schools' was given by
e Freiee feres @ sEemey w7 o
Options:

National Education Policy (195a)

T e i (1936) i
1 Qcollegedunla;



Fothari Commuission
TS TR

Eadhakrishnan Comunission
TR ST

Mudaliar Commission
HETTErT 3T
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which Commission suggested for the constitution of Academic Councils in
Universities ?
Fwafererr 9 swEie wifga (Bga afm) @ wed @ gera e J &
a7
Options:
Calcutta University Comnission

| T Frzataemerg 3

Shrimanmaravan Conunittee
e | R LI D

Kothari Commdssion
-':f'ul._fr:.-rh & ":I.H

Shri Rammurti Aavog
A1 SrAAfe
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is the title of Wational Education Commission ?
RALEwEE I 41 e e R | e o e ) B e e )

Options:

L

Education and National Development

| TR uE S

Education and National Integration

Z L W) Lowiied MG L TG !
. % collegedunia:




Education and National Empowerment
5 (B85 L ) L MG e [ I e )

Education and National Modemization
4 THET UE el s
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Wood's Dispatch was related to
g€ w1 HEUTE Halee el
Options:

Vocational Education
TPl Gl B2 e I

Primary Education
e e

Educational Administration
HfiE wemEE W

Higher Education
g e |
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
Which commussion reconunended the setting up of Multi Purposze Schools ?
Options:
Secondary Education Commiission
wrenfads e e

Universityv Education Cominission

faafa=mer f9en 2w

Indian Education Commission
. W FE s

Minority Conunission Q
_— . W collegedunia:
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which conunission suggested to replace vocational education by skill
development ?
(2215 0| B el o e 1 e R Y 8 o s e L o e T s N 1 s s 1)
Options:

Sadlar Commission

HEe™ HTAT

Hunter Comumnission

o BUCR TN

National Knowledge Commission

A FH AN

Eothari Commission

4 RGO ST
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

In which vear Indian University Act was passed ?
B R BN ) e e ) A R o e L B | R

Options:

1 1505

5 1907

= 1902

1904
.

Question Number : 55 Question Id : 6589883038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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In which State of India Loke Jumbish Programme was started ?
1 B W o o Mt e B | 0 o e e o = e 0
Options:

Uttar Pradesh

Gy RAR =R |

Haryana

Efron
B

Rajasthan

o NIRRT

Bihar

4.1'?‘4?1?
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Correct Marks: 3 Wrong Marks: 1
Cuestion Latbel Multiple _holce Cuestion
RMSA' stands for -
THET W e E
Options:
Raashtriva Madhvamik Shiksha Agency

1 T AR e st

Raashtriva Madhyvamik Shiksha Abhivan
EiLrE B I G E o Rl e R e

Raashtriva Madhvamik Survey Abhivan
S W e Afie

Raashtriva Madhvamik Shiksha Adhyavan
4 YT At R s

Question Number : 57 Question Id : 6589883040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

In which of the following curricular approaches the leamer enjovs least
autonomy ?
S 2 a1 2 2 1= 1 s B 1 e M e e e O Qcollegedunia;

Options:



Subject centred approach
fame dfad s

Teacher centred approach
o SEITE FiET T

Activity centred approach

Experience centred approach
A wET S

Question Number : 58 Question Id : 6589883041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Which of the following ways of transferring information has maximum scope
of social development of learners ?

5z a5 e B 1 e e = s = O = e b e e 1 e O - e e R e
TR YEA B 7

Options:
Museum

AT

1.

Laboratories

5 TSI

Field wizit
HAS
=

Librarv

4T‘FIT-FIWF'T
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A lesson plan to be taught can have a smallest unit as what ?
T TG ATSHAT FAEET UG S § Sd WE BieT g a9 81 addl 8 7
Options:

One chapter

U AT _
1: W collegedunia:



Many chapters
T AT
z.

One concept

3 LR PR = Dl |

Marry concepts
" HE W
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of options best describe a progressive way of teaching learning ?

i R e e i = s O e e 0 el s e e s e e |

Options:
Project method, learning by doing, cooperative learning
| AR A, @R e e € e

Project method, ability group, demonstration
> I EE 1 1 A i e i = et

Thematic units, regular unit, ability grouping
. (2 | T e A 1 e 1 S o R

ersonalized learnine, abilitv eroupine, rankin
P lized | g, abilits g 151

o AT ST, TR WE, N

Question Number : 61 Question Id : 6589883044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
¢ R SR children think to interpret the received information acoording to

their experiences.

1= SO G =1 = s = M 1 1 = e 1 s o e 1 L
= & |
Options:
Critical thinking
el
1.
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Retlective thinking

ERBENEREIE|

Creative thinking

Abstract thinking

S T
4.
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A teacher wants to teach dircular motion to the class VI students, which is the
best way which he can adopt ?
T e wEn VI ® R wr meE g aemn aen B FrEfeiEd |9 we-

EIA s e M i o M

Options:
By demonstration
| PR g
By discussion

By activity

fipar 2T

By giving examples

4 F' I.""'.TIT E-I_‘“T
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Among the given below which can be the most suitable strategy to teach the
skill of addition of money ?

L B0 =2 ) £ B TS T =4 W e | . = 7 e e s e S O (o G 2 E R 2 e a1 M T
g7

Options:
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Doing lots of problems
ety B | A B fa R VR B -t B

Role plav
o, W T

Useof ICT
ago Hio Tio @ Fu

Use of Models
HrEalt w1 A

Question Number : 64 Question Id : 6589883047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Kilpatrick's project method is an outcome of which of the tollowing ?
1 2 1 s s 2§ = ol 1 A e 5 20 W N v 2 T =
Options:

Pragmatizm alone

Pragmatism and Realism

o FATSATS SR TS

Realizim alone

70 kg e 2 | T e 1

Realism and Idealism

T'T[:'/_;!'[E.:c T N f:ﬂT:."a!:I-"-[T.Fr
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Which of the tollovwing is not an element of creativity ?
1 01 5 e B e 5 i e G e e =

Options:

Frequency
| S
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Conservation
5 L]

Flexibility
e, SRR

Elaboration

EEniEd
i RS
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Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

What should a teacher take into consideration when he begins a new topic or
lesson ?

ferh @1 2 SUET O 90 U ®Yd HEE T S H W e v

Options:

teachers own experiences

1 foleTr & @A @ A

some experiences alreadv possessed by students
el # U &g WgEd

an overview of the subject
e 1 FEmEea

explaining the importance of subject
e & HewT i S

Question Number : 67 Question Id : 6589883050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Lateal Multiple Choice Cuestion
C. A. L stands for :
o o Ao WHTTER THer &
Options:
Computer Assisted Industry
| TR Afimes grET

Computer Aided Innovation

. FrICT [ES Ee T I Qcollegedunia;




Computer Aided Involvement

. ~
R CY Ues pridicdHC

=

Computer Aszisted Instruction
4 TN TS I
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

At authoritarian level teaching is -

3 U 01 3 0 1 e R =8 <

Options:

Head Master centered

| ETTETS GAE=t|

FParent - centered

AfHTaE Fiad

Teacher centered

AETTEH Hrae

Child rentered

G WS ] et
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the tollowing does nof belong to instructional technology ?
o e e e B 21 5 R | a1 = ) 2 B = B - =
Options:

T group method

, CrwE R

CAI
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Programumed Learning

o ST S

Media and printing equipment

i Hifgmm v fEfET S
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

'Symposium is a type of which teaching method :
qwars (Rrmfors) fiew uew @ fore fafg g v
Options:

Dizcoverv method

i s fafe

Dhscussion method

5 EEEEREIE

Inquiry method

o T Ferfer

Lecture method

4 T i)

Question Number : 71 Question Id : 6589883054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following reflects the correct sequence in the development of
educational technology approach ?

BN P O e e e e s s s M s e s M 1 M= A el e e
g7

Options:

Hardware, Sottware, Masz-media, Svstem's approach, Multimedia and ICT

. BTEA0Y, WIMeday, AMG-AEa, Uomell SOnTH, Aeerdite ge ang W e
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Mass-media, Hardware, Svstem's approach, Software, Multimedia and ICT

AI-HITS T, BTSOaY. UTen SONTH. WIYCdIN. Heeditear a9y ans oy &

Hardware, Software, Mass-media, Multimedia, ICT and Svstem's approach

BETEAY, HIYT AN, HE-HTET el FieT, ang |l P o woel Sure,

Hardware, Mass-media, Software, System's approach, ICT and Multimedia

BMETUY, AE-ASU, HUETIY, el SUTTH, d18 9 o 991 Ao rEifer
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In designing instructional system, which model of teaching lays stress on
instructional objectives, process and the evaluation of learning outcome ?

1 Gl e M s e e = e ] B B b e s o | W= = e
e a7 afee & Jed T de adl 8 7

Options:
Concept Attainment Model

] AT HWRT A

Inguiry Training Model
e AfETET HiaEE

Basic Teaching Model

STETI TEEre g

Interaction Model

i AR e

Question Number : 73 Question Id : 6589883056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following principles is not associated with the programmed
instruction ?
R e s B e 1 i A s = 0 e M e M s i s M 1

Options: .
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Principle of self pacing
TRy B s

Principle of Active responding
B 1= 2 = s R O R =t

Principle of Immediate confirmation
dehrel dfegfte @1 e

Principle of simulated responding

ST e T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

The essential characteristic of co-operative learning is -
WEdT AfTH & o argvad e
Options:

Effective learning

. CTEETEAT AT

Positive interdependence

5 WATIC ST

Co-operation
HEHT

Division of labour
4 e
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Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

A method in which the skill and expertise of manv teachers is combined to
teach a class is called as ?

U fafey fores aga o sl & Erere @i Fgemr @ weEit wee g & g
Uh WY A W B 9 thEd B

Options:
Panel discuszion

e =
1 Qcollegeduma;



Group discussion
THE ==

Team teaching
wHE

Tutorial method

g e I EC E M E IR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

In which phase of teaching does a teacher assess the previous knowledge of
students by asking questions ?
e A ) O e W 13 T e e B M 3 o 0 e K £ M ) W e
27
Options:

Interactive phase

AT e AT

Recapitualatoryv phase

ATl SraeE

Pre-active phase

B i i e

Post-active phaze

4 ES R o 1= 74 o e e T Ea
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the tollowing is measured on nterval scale ?
e T 1 B o B e O A
Options:

Height (in cmn)

1 garg (Ho Ho H)
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Income (in Rs.)

HTA I:*-\'JEI:'.. "F|JI

2.
Sex of newlv born babies

o A fEreg e

Temperature (in degree Celsius)

o T (feedt s #)
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The observations of which the following scale of measurements cannot be
added ?
5 B s A s M e i e =4 v e s G e A =S < s s = 1
Options:
Interval scale

| T HI

Ratio Scale

ST AT

Interval and ratio scale

o AFENIE 3T STHTT =)

Nominal and ordinal scale

4 ATAT S A E A
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Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

Let average temperatures, on a particular day, of citv A and city B were
measured as 20°C and 40°C respectively. On the basis of this knowledge which
of the following statement is not trie ?

" o fF el B9 A St B ¥ied & aiWd 9 @ 20°C & 40°C | |
RSB 1 £ 11l e e s M W B ) O = s e 1= 7 =

Options:

Qcollegedunla;
India’s largest Student Review Platform



Average temperature was 30°C
ST AT 30°C o

City B was twice hotter than citv A
B ¥ER A STEY § AT TH o

The temperature of citv A was lower than citv B
TEY A & ATIAT 8T B EH

Ditference of temperature between two cities was 20°C.
a1 wTERf @ AT @ drE @ e 20°C o
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Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

The arithmetic mean of marks of 10 students was 70 while the arithmetic mean
of marks of first 9 students was also 70. How much marks the 10th student
obtained ?

10 ===i @ 3t @1 FHEAY qe 70 97 Sait 99RO Gl o UTETh] B qHN AT
A1 70 2| 104 @=a A fieden e o foar 7

Options:

0
1.

ab
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Average run made by two plavers A and B in five matches are same as S0.
Which of the tollowing will be more helpful in deciding better plaver betiveen

both ?
orel 7=l H a1 fEonfem A @ B Ny "= T = @ s vedaE 80 @] g4
o150 1 s 13 O g M 2B i M O s B B 1 = 0 0 = O S
Options:
Median

t“'- [ r .
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Ratio of matches plaved by them
el T HA] T AT

Nean
3 Hied

Coefficient of variation
feremor
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Let X denote a data set and its mean, median and mode are 10, 15 and 20

respectively. On the basis of it which of the following sum will be smallest ?

A1 o fiF X slwel & Us 9HE § Ui BYar ¥ U9 §HE Ay, AferdT R agad
G s O (S el B I s o e A £ B i e 1 e e o R

Options:
(X -15)
1, 9 J

v _ 10
5 T(X-10)
5 ZX-20)°

T(X-0)p
i SR
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If value of each observation of a variable is increased by 20 then standard
deviation of new observations will :

afg f&dl =9 & uUeds 9AE & 919 H 20 @ dgioe o af o o A7 HH®H] S
HIBEREEEEIE

Options:

MNeither increase or decrease

(AT AGI T Hem
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Decreaze

5 HT I

Either increase or decrease

5 @F AT HE S

Inicreasze

Question Number : 84 Question Id : 6589883067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Average mark of students of a school was 60 with standard deviation 10. On a
complaint 10 marks were deducted for a student, having Z score as 4. The new
mark of this student will be

U Thel @ =l P s wrs o0 S weE fHEee 10 e | freme & amew W
Zwh 49 ud d=el & 10 aid @ S T | g9 = @7 A0 averd 26

Options:
1. 0

- 60

Question Number : 85 Question Id : 6589883068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

Chosze correct statement trom follovwving statements -

{7 e | W gy daes 97

Options:

If data is ckewed then median is always greater than mean.
Ofe WHE 7 wEad B o AfEAET wag e | gl 2l f |

If mean< median<mode then data will be positively skewved.
ofe " < HifeqdT < @Eclt B A1 WHE H areHE hdgadl B0 |
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It data is syvomumetric then mean, median and mode will always be same.
3 ofe W WEA B A1 A, wiead, S8 agdadw wad e 2 |

Among mean, median and mode onlyv mean uses all data points.
4 A, A ST agA® 7 9 Aol A §W HHEI B SUanT el 2

Question Number : 86 Question Id : 6589883069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

Let mark of 1000 students in a paper of 100 marks is normal with mean 65 and
variance 25. Which of the following statement is more consistent in this
regard ?

A of fir 100 i arel Ud ugs 9= 9 1000 w=7 6 9reie |4 65 af weeer 25 %
IS W B, 9 ORben | Fe A W e ges) sfed Wi 8 7

Options:
Approximately 50 students are expected to get marks more than 75
err 50 BTE & UTEid 75 W s @

Approxdmately 700 students are expected to get more than 60 marks
e 700 BT & A 60 ¥ st B

Approximately 630 students are expected to get marks between 60 to 70
T 680wl ® wrand 60F 70w &g B

Approximately 70% of the students are expected to have marks between 55
ta 75.

ST 70% BT % urErE 55 75 €19 B

Question Number : 87 Question Id : 6589883070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

It X and Y are two uncorrelated variables with variances 5 and 15 respectively
then coefficient of correlation betiveen X + ¥ and X =Y will be ;

Ofey X &Y Y shAI: URRY 5 3N 15 & 9y - HewsEEg TR B T X + Y AR X-Y &
& WE-Hrag I B

Options:

il
1.

Fa | =
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Question Number : 88 Question Id : 6589883071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

uestion Lateal Multiple _hoice Cuestion

For 10 observations of a data set X, if (X - 20) =300, (X -50) =0, ¥ (X -35) =150,
and T(X - 50)° = 6250 then coefficient of variation of X is equal to:

10 afiFel & fmed we X @ fow #fs XK - 20) = 300, X(X —50) =0, ¥(X - 35) = 150
3R ¥(X— 50y =6250T1 X & &= 1o &

Options:

50%
1.

43%

Question Number : 89 Question Id : 6589883072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which measure of central tendency will be more suitable for following data set ?
2,4,5,45,6,7,40,5,6,7,9,10,12,4
A aftdel @ forn e Ei & BreE-a AT S B v
2,4,5,45,6,7,40,5,6,7,9,10,12, 4
Options:

Mean

HTE

Median
ArfenT

Mode
aEad

Hﬂ:l'ﬂ'llIl:{"liC ITean
BITCHSF HIE Qcollegedunia;
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Question Number : 90 Question Id : 6589883073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

It age of 5 children are 1, 2, 3, 4, 5 vears, then what will be variance of their
ages ?
el gl 6 ey ween 1,2, 3,4, 581 O 9@ 30 @ HEN @ B6T 7
Options:
2 vears

29
1.

= o
2 Vears-

23?|ﬁ‘:

o -
D VeArSs

ey

2 vears?
2 T’

Question Number : 91 Question Id : 6589883074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the tollowing is not a property of normal probability curve ?

5 O s e 3 W # .| e M 4 3 £ = e 0 L s M = S
Options:
It always has two tails
, 9 Y B E
It is svmnmnetric about data mean

TE ANBEl T OAET & Ui WA B 2

It touches the data axis

o TE STHEl § S @ gl E

It never touches the data axis

4 TF @ 0 SISl & e B AR

Question Number : 92 Question Id : 6589883075 Question Type: MCQ Option Shuffling : Yes Display Quest .
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay ¥ collegedunias
NO Contr OI Enable Yes d India’s largest Student Review Platform

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question
Which of the tollowing is alwavs correct regarding correlation coefficient
betsween two variables X and Y ?
&1 = X8R Y & 419 Ue-9 ONE re & (o [ A W F ued §8 e 7
Options:

It v+ = O, then variables are independent

1 e £y =0, T =W WA E |

Iy has units.

oy T THISAT BT B |
5

The sign of 13y is not dependent on sign of covariance.

5 Tay T fere WE U uv % faes uw e a8 e 2

o ok - . S 5
It 1. =045, then the variahles are positively related.

j afg 2. =045, a7 T SHHS w8 |

Question Number : 93 Question Id : 6589883076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the tollowing statement seems more appropriate about T score ?

A § W e gane T-weR @ o aofas sHa adg 8mr g 7
Options:

T score is value of t-test
] TR t-2%€ & 7 = |

T score may be negative.

3 T ¥R =UTHT 8 Hhal & |

Raw scores can directly be converted into T score.

5 ¥ TR F Wi T %R § @50 "dd 2 |

T- score and t-score are same.

4 TFR ST TR TR

Question Number : 94 Question Id : 6589883077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1 .
. : . : % collegedunia:
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The mean and standard deviation of reading test are 60 and 10 respectively
while for an arithmetic test these are 26 and 4 for a group of students. It a
student scores 35 on the reading test and 25 on the arithmetic test then in which
test he is better 7

B & UEH TR @& fon Wied TN & A ug AeE faEed meer 60 @ 10 o
MW T W U8 26 @ 4 F | OfE UH 9T Wed WWETT | 55 Ty S e |
28 ¥R U ® A1 98 fhwd Swa WeEvE 9Ee ¥

Options:

Arithmetic test

ATERTE T

Reading test
qIGY e

Same performance in both test

Sl | T HE

Data is insufficient

AT STTATE F

Question Number : 95 Question Id : 6589883078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The development of norm is based on :
AT T AR R #e B
Options:
Binomial probability distribution
i fEme wfiren gee o
Normal probability distribution
AT QI @e 1Y

Chi square probability distribution
£ £ W= 112 1 e i B 4

F-probability distribution
F-urfiepe] qe 1
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Question Number : 96 Question Id : 6589883079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

According to Terman and Oden who will be a gifted person ? A person, who's
IQ score lies :

o b B B o e 5 e e = K | O e R 1 o o O s o | = | =
& ATETE TSl B

Options:
At mean score.

| HETE 1218 O SR

One standard deviation above the mean score.

HETH AT U U AE (e & a5

Trwo standard deviation above the mean score.

5 FEIAE AN 6 S AEE fEeT @ s

Three standard deviation above the mean score.

e R e | I 0 [ G 05 0

Question Number : 97 Question Id : 6589883080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
Which of the following statements iz the best explanation of a behaviorist

approach to learning ?
M1 91 @ e T & SrEEarE S a6 i s v f o7
Options:

Individual learn by forming patterns and associations in their mind.

, = & e At § Gee s wead ] |

Individual learn from experience.
o =l i # sr W |

Individual learn through reward and punishment.

=AfdT dhEd § RN SN 8T8 9

Individual learn by listening stories.

2 | M e e s e e

Question Number : 98 Question Id : 6589883081 Question Type: MCQ Option Shuffling : Yes Display Quest #i collegedunia:
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay
No Control Enable: Yes N



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The view that individual leams and memorizes things by perceiving them in a
pattern is best related to :

ag gftewr A & e =i @l avg e afem e SR v ed @ w1 A
el Y WA §, WAlEd w9 W weE g o

Options:
Behaviourist view of learning

| T & =EENEET Sihr 9 |

Experiential view of learning.

SIS AETH O S ¥ |

Gestaltist view of learning.

SieTeT SitcHm 9 |

Mechanical view of learning.

; AT & A gftcwr w0

Question Number : 99 Question Id : 6589883082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The behavior which includes feelings, interests, appreciation, attitudes and
values is related to

o) ol o O 1 O T O N R s el B e =t e
a7

Options:
Atfective domain.

HIETHSE &5 9 |

Cognitive domain.

HEHTHE &5 W |

Psychomotor domain.

HATAT® &5 ¥ |

Emotional domain

WIS 875 W |
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Question Number : 100 Question Id : 6589883083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the tollowing is the best example of a negative reinforcement as

given in Skinnerian Operant conditioning theory ?

1 A e = 5 G o e i e 0 e M O s e U B S B T
T Y =0 SGIEY B

Options:
Giving Punishment.

e
Giving reinforcement after a particular undesired behavior is
exhibited.

o TP O @i weaER & FE e W AEE WET & |

A withdrawing or removal ot a pozitive reinforcer.

R el Y b o e e 1 et W M A 2 e e e s

ik
Doing a desired behavior and not getting reward.
y A 2GRN & FAT AT G A A @ |

Question Number : 101 Question Id : 6589883084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In rontinuous reinforcement schedule, every appropriate response ... ;
R e I I [ i 5 s 2 L = 2 ) e e = SO I

Options:
it sometimes reinforced

R E s e o e o W P O

[
is not reinforced

5 G ot i s e B i 1 O v
iz reinforced

. W AEE UET e s #

is reinforced after a fixed amount of responzes

(8 O Ve W e M 8 ) B e d e e o = o 1 M L _
4. % collegedunia:



Question Number : 102 Question Id : 6589883085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the tollowing psychologist gave the contiguity theorv of learning ?
5 O 5 = s s O e 0 11 O s = e s R o2
Options:
C. Hull
wlo Bel

E. Guthrie

E:,'l.': ?.]_:':"
e 1

E. C Tolman
go o TTeAE

J. B. Watson

oo dlo areE
4.

Question Number : 103 Question Id : 6589883086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
Hull believes that no conditioning will take place unless there is
b e | 1 s e A A o M s s Fd =1 s R ) U o o
Options:

Food.

AR A BT

Need Reduction.
ATl W AT OB

Negative Reinforcement.

o FUTHS AT = B |

Secondary Reinforcement.

, TEETTE g 7 A

Question Number : 104 Question Id : 6589883087 Question Type: MCQ Option Shuffling : Yes Display Quegcollegedunia;
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay
No Control Enable: Yes
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If Ramu does not like milk; he mav dislike all other milk products such as
cheese, butter, ghee and curd”. This phenomenon may best explained with the
help of -

TfE I B 5H AR TR B, O 98 OF g Sediee ofY Hre], A, o #R g8 @

of ATTE=g Y Wl 2 | 39 "o & ey ATl @ 87 W

B

Options:
Gestalt theorv of learning
| AR % wveree e @ wem 9

Law of Exercize
o ST & AR W T 9

Spontaneous recovery
o dehlferd A & FEE a a9

Transter of Learning
4. AfErTH & w9

Section 11 English Language Cormprehension

Section Id : 65898828
Section Number : 2
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 48
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 65898832
Question Shuffling Allowed : Yes

Question Number : 105 Question Id : 6589883088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the word nearest in meaning to the given word :
Serenity :

Options:

1 Caliness

Qcollegedunla;
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5 Stir

2 Protest

Aoitation
4 7B

Question Number : 106 Question Id : 6589883089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the word nearest in meaning to the given word :
Acute:

Options:
1 Arccidental

> Stir
2 Curious

Severe

Question Number : 107 Question Id : 6589883090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word
Perry :

Options:

1 Emptiness
5 Distress
2 Poverty

4 Reduction

Question Number : 108 Question Id : 6589883091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion Qco"egeduniag



Select the word nearest in meaning to the given word :
Eulogy -
Options:

1 Celebration

5 Tribute

2 Chant

i Memorable

Question Number : 109 Question Id : 6589883092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word opposite in meaning to the given words
Skeptic :

Options:

1 Support

o Believer

5 Crypthic

Erminent

Question Number : 110 Question Id : 6589883093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Latbel Multiple _holce Cuestion

Select the word opposite in meaning to the given words :

Opaque:

Options:
Transparent

5 Neutral

Hazy
5 Haz

4 Fossy QE‘?"?%?&'”']'(?%



Question Number : 111 Question Id : 6589883094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word opposite in meaning to the given words :
Tacit :

Options:

1 Irherent

5 Indicated
3 Explicit

i Invalved

Question Number : 112 Question Id : 6589883095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given words:
Mutter
Options:

. Resolve conflict

5 Decree

. Drigress suddenly

4 5P eak distinctly

Question Number : 113 Question Id : 6589883096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the correct meaning of the given idiomatic expressions :
To put one's foot down :

Options:

. Mot to surrender

o it dotn Qcollegedunia%
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3 Withdraws

Torezien
4 &l

Question Number : 114 Question Id : 6589883097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expreszions :
To have an axe to grind -

Options:
To take revenge
1.

5 To have a selfish interest

. To pinpoint faults of others

4 To make unreazonable demands

Question Number : 115 Question Id : 6589883098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct word -
I'm tired. I'd rather ....__... out this evening.
Options:

1 not going

dont
. HonT o

3 ot go

” will go

Question Number : 116 Question Id : 6589883099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Capitalist socieby ... profit as a valued good.

Options: Qcollegedunia%



1 which regards
was regarded
regards

regarding

Question Number : 117 Question Id : 6589883100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct word -
Diseazes areeasily ... ... through contact with infected animals.

Options:
transmitted

5 transformed

. transplanted

4 translated

Question Number : 118 Question Id : 6589883101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question
Fill in the blanks with the correct vord :

.......... the timely help the patient died.
Options:
1 Despite

5 Even though

= Becausze of

i But for

Question Number : 119 Question Id : 6589883102 Question Type: MCQ Option Shuffling: Yes Display Quertig= "' her - Ve
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Repmygcollegeduniaé
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

Evervone stared ..._._... the nevcomer.

@)

i

ptions:

in
ar
for

about

Question Number : 120 Question Id : 6589883103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Out of the given alternatives, choose the one which can be substituted for the given words :

A wrriter who steals ideas from others :

Options:

1

2

=

4

Copier
Plagiarist
Editor

Translator

Section 11 Hindi Language Cormprehension

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section I d:

Question Shuffling Allowed :

65898829
3

Online
Optional
16

16

48

Yes

No

1
65898833
Yes
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Question Number : 121 Question Id : 6589883104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

i s = i e e e e ) - A e M =7

Options:

i T

B | EEET

PPN =
B I ER s | Ay

frs= 31

Question Number : 122 Question Id : 6589883105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

B (v e 1 B 2 1 e s s A 1

Options:
i L EIE I ]

5 SET HE

ITHI
] THAET

. EaT AR

Question Number : 123 Question Id : 6589883106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Fr=fafiaa § ¥ ®E-d w1 we T B 7
Options:

1 T

o g A

= EE =
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Question Number : 124 Question Id ;: 6589883107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Lakel : Multiple Choice Guestion
A T | e e 1 O s e 7 A = = =

Options:
1 RO 9

5 HET o

5 ANEATTE EREE!

i BT o1

Question Number : 125 Question Id : 6589883108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question
st e ol O s e B 2
Options:

1 TRHTHEETH

FHAETH
B

3 BECIE:!

4 AR

Question Number : 126 Question Id : 6589883109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 127 Question Id : 6589883110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
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Question Number : 128 Question Id : 6589883111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 129 Question Id ;: 6589883112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Question Number : 130 Question Id : 6589883113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 131 Question Id : 6589883114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

TS WTen ] WEl [deH F B 7

Options:

1 =7

Question Number : 132 Question Id : 6589883115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 133 Question Id : 6589883116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion
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Question Number : 134 Question Id : 6589883117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question
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Question Number : 135 Question Id : 6589883118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion .
Qcollegedunlag

Fefaiian 5 o ®F-w 27w aoad B 7 :



Options:
i
L S|

Question Number : 136 Question Id : 6589883119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
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